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1km
6
3 30 100
41.0m 9
3.0m 2.5m 2.0m 61.0m
15m 18m 1 4
2m 39.0m 24m 45m 1 10
37.0m 1 10
1
7100m°/s 55.79m 10090m*/s
58.40m 50.20m
1
1
Q m/s m
10090 P=1% 58.40
7100 P=3.33% 55.79
6940 P=5% 55.62
5190 P=20% 53.70
3930 52.14
1380 47.92
828 46.61
e =0.20
e =0.50
e =0.75
e =1.00
e =1.25
e =1.50
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1
350m 41.0m 500m 41.0m 12
2
A =46 0.50m
A =N M=6.782
A =\ /’=14351.41
5
5.1
56.12m
0.33m 58.82m 0.42m
2
2
P % |Q m/s |Z nm Z m
m m
1 10090 58.40 58.82 0.42 0.84
3.33 7100 55.79 56.12 0.33 0.54
5 6940 55.62 55.80 0.18 0.53
20 5190 53.70 53.83 0.13 0.38
3930 52.14 52.25 0.11 \
1380 47.92 47.99 0.07 0.09
2 3
P % Q m/s M
1 10090 0.229
3.33 7100 0.209
4 5 6940 0.211
20 5190 0.196
/ 3930 0.181
3/2
Q=o0,0,mb,/2gH, 1380 0.132
M=o 0 m 3
5
6
5.2
0.50m
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9 828m*/s 1.10m

14
5.3
1380 m*/s 7m 10090m*/s
18m 1380m°/s 0.07m 10090m°/s
0.42m 8 13
50.20m
50.20m

e=0.2 H = 42.40(m)

e=0.5 H = 43.15(m)

e=0.75 H = 43.50(m)

e=1.00 H = 43.95(m)

e=1.25 H = 44.20(m)

e=1.50 H > 44.40(m)

7 15 20
3
9
9
5.4
8 20
3.7m/s
3.4m/s
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Viex M/S
Q m/s |Z m
0+063 0+093
10090 58.40 3.01 3.68
7100 55.79 2.07 3.10
6940 55.62 1.23 1.97
5190 53.70 0.98 1.66
3930 52.14 1.05 1.50
1380 47.92 0.63 0.97
e=0.2 29.7 42.40 0.23 0.75
e=0.5 61.90 43.15 0.36 1.17
e=0.75 92.30 43.50 0.62 1.19
e=1.0 120.60 43.95 0.58 1.66
e=1.25 147.05 4420 0.79 1.46
e=1.5 172.15 44 .40 0.55 1.60
828 46.61 0.47 1.09
5.5
5.5.1
5.5.2
6
6.1
6.2 828m’*/s
6.3
6.4
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